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1. “BALALAYKA” sozciigii 237373683 ile
sifrelendigine gore, “HALAYIK” sozcligliiniin

sifresi agagidakilerden hangisi olabilir?

The word “BALALAYKA” is coded by 237373683.
Accordingly, which of the following choices can

be code of the word “HALAYIK”?

A) 9353618
B) 1353698
C) 5373618
D) 4373718
E) 1353618

2. SORUDA VERILEN SEKILDEN FARKLI OLANI
BULUNUZ.

In question 2, find the figure which is different
from given one.
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Asagidaki sayilar bir kurala gore yazilmistir.
Buna gore, soru isareti olan yere hangi sayi
gelmelidir?

The following numbers are written according to

a rule. Which number should come instead of

qguestion mark?

A)15 B)17 ()19 D)21 E) 23

4. SORUDA, |. GRUPTAKi SOZCUKLERIN
HARFLERI BiRER RAKAMLA GOSTERILEREK II.
GRUPTAKI SAYILAR ELDE EDILMISTIR. SORU
iSARETIYLE BELIRTiLEN S6ZCUGUN HANGI
SAYIYLA GOSTERILDIGiNi BULUNUZ.

In question 4, the numbers in group Il stand for
the words in group |, when each letter has been
coded with a specific numeral. The integers
represented by the letters may change from
question to question. Find the number which
corresponds to the word indicated by the
guestion mark.

ERIK
KiRA 2634 1352
l. LIRA . 3652 4352
ICRA 7531
ACiL
ACiL=?
A) 2634 D) 7531
B) 1352 E) 4352

C) 3652



5. SORUYU ASAGIDA VERILEN DENGE
HALINDEKi TERAZILERE GORE CEVAPLAYINIZ.

In question 5, find the correct answer in
accordance with balanced scales below.
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6. ave b dogal sayilari igin;
(2a-b+3). (3a+b+1) = 13 olduguna gére; a
ve b sayilarinin ¢garpiminin sonucu kagtir?

For the natural numbers a and b, if;

(2a-b+3) . (3a+b+1) =13

then what is the result of multiplication of a and
b?

A) 12 B) 14 C) 16 D) 18 E) 20

B)

Q)

D)

E)

Asagida, birim kiiplerden inga edilmis bir bina
verilmistir. Bu binanin sag taraftan goriintiisi
asagidakilerden hangisidir?

Below, there is given a building made of unit

cubes. What is the image of this building when

one look from the right side?




8. SORUYU ASAGIDAKi ACIKLAMAYA GORE
CEVAPLAYINIZ.

Answer question 8 in accordance with the detail
given below.

Asagidaki sekil a, b, ¢ ve d harfleriyle gosterilen
dort tam sayiyi iceren bazi islemlere gore
diizenlenmistir. Harflerin gosterdigi sayilar her
soruda farkh olabilir fakat bunlarla yapilacak
islemler her soruda aynidir. Buna gore soru isareti
yerine hangi sayi gelmelidir?

The figure below has been organized according to
various operations using four integers represented
by the letters, a, b, ¢ and d. The integers
represented by the letters may change from
guestion to question, but the operations to be done
remain the same. Accordingly, find the number to
replace the question mark?

c.d
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c db
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12
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A) 16 B) 12 C)8 D) 4 E)2

v8,1+/0,9-v4,9
v12,1-V10

isleminin sonucu kagtir?

What is the result of the above operation?

A)1  B)5 ()10 D)V5  E)V10

10. 3199% 1 x1093 — 18 olduguna gére,
x kagtir?

if 3L09X 4 xlod — 18, then what is the
value of x?

A) 100 B) 10 01 D)3 E)9

. 1
n M (28 4+ 35— 1)
ifadesi asagidakilerden hangisine esittir?
What does the equation of

) 1
x_,l_loom (Zx + 3x — 1) equal to?

A) - B) o0 0)-1 D)1 E)O



12. f(— iz + e* +sinddx 14. Tarali bolgenin alani integral kullanilarak
x asagidakilerden hangisi ile ifade edilebilir?

integralinin sonucu agagidakilerden hangisidir?

Which one of the following is the result of the With which one of the following integrals can

integral [ (— iz + eX +sinydx ? the area of the above grey colored region be
* defined?

A) )2—(— e*+cosx+C y

B) 2 _ e*—cosx+C (0,2)

X

Q) 24 e*X+sinetC
X

D) 24 e*—cosx+C

X
E) §+ e*—sinxt+C
///1-21n 0 X
13. A
¥z A) f_02|v4—x2—x+2|dx
B c B) f_02|v4—x2+x+2|dx
X K 4
0
ABC bir iicgen, C) f_2|x +2 — V4 —x2|dx
[AK] agiortay ,
|AC| = 12 cm D) Jy|V4—x2+x—2|dx
|IKC|=4 cm ,
IBK| = x cm E) Jfylx—2—-v4—x2|dx

Sekildeki ABC liggeninin gevresi
36 cmolduguna gore, x kag cn’dir?

Cevap Anahtari
ABC is a triangle, Given: 1-C 2-B 3-C 4- A
[AK] is bisector, 5-B 6- A 7-E 8-D
|AC| =12 cm 9-B  10-A 11-D  12-D
|[KC|=4 cm 13-C  14-C

|[BK| =xcm
If the circumference of the triangle ABC is 36
cm, then how many cm is x?

A)3 B) 4 C)5 D)6 E)7




